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{dσ} =

(
[D](k) t+dt − 9

4 (σt
i)

2 · [D](k) t+dt {s}t {s}t′ [D]
(k) t+dt

H(k) t + 3G(k) t+dt

) ({dε} − {
dεT

})
+

+

(
[dD](k) − 9

4(σt
i)

2
· [D](k) t+dt {s}t {s}t′ [dD](k)

H(k) t + 3G(k) t+dt

) (
{ε}t − {εp}t − {

εT
}t
)
+ :�=

+
3

2σt
i

·
[D]

(k) t+dt {s}t ∂ ˜̃σt
i

∂T
H(k) t + 3G(k) t+dt

dT.
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NQR \TSiYR[ SV PQR PQRT[S[R]QWX�]Z VST PQR YWURTRd PR[\RTWP_TR ZRXZ�P��
jR \YWZP�] dRVST[WiYR ZSY�dZ �Z VST[_YWPRd� NQR fRXRTWY W\\TSW]Q PS ZSYj�Xf �P
iWZRd SX PQR eX�PR RYR[RXP [RPQSd PQWP �X]Y_dR VST PQR \TSiYR[ SV ZPTRZZ WXd
ZPTW�X ZPWPRZ PQR ]WY]_YWP�Xf Z]QR[RZ ]SX]RTX�Xf ZPR\�iU�ZPR\ W\\TSk�[WP�SX
WXd Y�XRWT�lWP�SX SV PQR ST�f�XWY TRYWP�SXZQ�\Z �Z \TS\SZRd� NQR PQRT[S[R]QWX��
]WY \TS]RZZRZ �X PQTRR�YWURTRd Z\QRTR SV PmS [WPRT�WYZ VST PmS jWT�WXPZ SV [W�
PRT�WYZ \YW]R[RXP WTR �XjRZP�fWPRd� )Xn_RX]R SV [WPRT�WYZ \YW]R[RXP SX PQR
ZPTRZZRZ VST[WP�SX �Z ]YWT�eRd WXd ]SX]Y_Z�SXZ WiS_P W\\Y�]WP�SX Rk\Rd�RX]U
SV SXR SV jWT�WXPZ iWZRd SX PQR ]WY]_YWP�Xf RZP�[WP�SX SV ZPTRZZ ZPWPR WTR [WdR�

a&. b6-V1+ QRWP PTWXZVRT PQRSTU PQRSTU SV PQR \YWZP�] XSX�ZSPQRT[WY
U�RYd�Xf eX�PR RYR[RXP [RPQSd YWURTRd ZSY�dZ ZPTRZZRZ ZPTW�XZ QWTdRX�Xf�
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